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XS M{N h©««¡ª� ¢{)�R0§ }¤©�0� §¡� ¢©ª}�0©ª� a(x) ¡� b(x) ¨©)� �)¡ §¡� ¢©ª}�0©ª�
x �→ x2 ¡� x �→ x3 �©0¡ª� ~¡� �©§)�0©ª� ~¡ §L��){�0©ª ~0;��¡ª�0¡§§¡
y′ = a(x)y + b(x) d

M|N vª }©ª�0~��¡ §L��){�0©ª ~0;��¡ª�0¡§§¡ _

(∗) x(1 − x)y′ + (3x − 2)y = x3.

i��¡�«0ª¡� §{ �©§)�0©ª £�ª��{§¡ ~¡ (∗) �)� }¤{})ª ~¡� 0ª�¡�({§§¡� I1 =
] −∞, 0[Q I2 =]0, 1[ ¡� I3 =]1,∞[S

M}N j¬0��¡R�R0§ )ª¡ ¢©ª}�0©ª f : R → R ~¡ }§{��¡ C1 �)0 ¡�� �©§)�0©ª ~¡ (∗) ¡�
�)0 (��0<¡ f(−1) = f(2) = 0 d y0 ©)0Q ¡��R¡§§¡ )ª0�)¡ d Mvª �{¨¨¡§§¡ �)¡
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YS vª }©ª�0~��¡ §¡ �­���«¡ §0ª�{0�¡ �)0({ª� ¡ª §¡� 0ª}©ªª)� (x, y, z) ∈ R3 ¡� §¡�
¨{�{«���¡� (p, q, r) _

x + y + z − px = 1,

x + y + z − qy = 0,

x + y + z − rz = 0.

z�©)(¡� �©)� §¡� ��0¨§¡�� (p, q, r) ~¡ ª©«|�¡� ¡ª�0¡�� ≥ 0 ¡� ≤ 2 �¡§� �)¡ §L¡�¨{}¡
~¡ �©§)�0©ª� ~¡ }¡ �­���«¡ ¡�� ~¡ ~0«¡ª�0©ª VS
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sin(π/n) + sin(2π/n) + · · · + sin((n − 1)π/n)

n

{ )ª¡ §0«0�¡ §©���)¡ n ∈ N∗ �¡ª~ (¡�� §L0ª<ª0 d y0 ©)0Q §{ }{§})§¡� F
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∫ 3π/2

−π

√
1 − cos x dx.
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